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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Critically examine the Sargent Florance‟s theory of 

Location. 

lkjtsaV ¶yksjsal ds LFkkuh;dj.k fl)kUr dh vkykspukRed 

O;k[;k dhft,A 

2. What do you mean by Regional Planning ? Discuss the 

characteristics of regional planning. 

{ks=h; fu;kstu ls D;k rkRi;Z gS \ {ks=h; fu;kstu dh 

fo’ks”krk,¡ crkb;sA 

3. Describe the importance of agriculture in the Indian 

Economy. 

Hkkjrh; vFkZO;oLFkk esa d`f”k ds egRo dk mYys[k dhft,A 

4. What do you mean by Urbanization ? Clarify the 

causes and effects of Urbanization. 

uxjhdj.k ls vki D;k le>rs gSa \ uxjhdj.k ds dkj.kksa 

vkSj izHkkoksa dh foospuk dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the Prebish-Singer hypothesis related to 

regional development. 

{ks=h; fodkl ls lEcfU/kr izsfc’k&flaxj ifjdYiuk dh 

foospuk dhft,A 

2. What do you mean by Migration ? Explain the 

objectives of Migration. 

izokl ls vki D;k le>rs gSa \ izokl ds mís’;ksa dh O;k[;k 

dhft,A 

3. Explain the characteristics of underdeveloped 

economies. 

vYifodflr vFkZO;oLFkk dh fo’ks”krk,¡ crkb;sA 

4. Describe the physical and financial planning. 

HkkSfrd vkSj foŸkh; fu;kstu dks le>kb;sA 

5. Give four reasons responsible for urban 

unemployment. 

uxjh; csjkstxkjh ds fy, mŸkjnk;h pkj dkj.kksa dk mYys[k 

dhft,A 

6. Give suggestions for the success of Panchayati Raj. 

iapk;rh jkt dh lQyrk ds fy, lq>ko nhft,A 
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7. Write a short note on „Regional Economic 

Development‟. 

^{ks=h; vkfFkZd fodkl* ij ,d laf{kIr fVIi.kh fyf[k,A 

8. Write a note on „People‟s Participation in Planning‟. 

^fu;kstu esa tu lgHkkfxrk* ij ,d fVIi.kh fyf[k,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False. 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR;A 

1. The primary objective of regional development is the 

maximum utilization of regional resources. 

{ks=h; fodkl dk eq[; mís’; {ks=h; lalk/kuksa dk vf/kdre 

mi;ksx djuk gSA 

2. Green revolution was not successful in Punjab State. 

gfjr Økafr iatkc jkT; esa lQy ugha jgh gSA 

3. The propounded of the doctrine of unbalanced growth 

is Hirschman. 

vlUrqfyr fodkl fl)kUr dk izorZd g”kZeSu gSA 
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4. The main objective of first five year plan was 

agricultural development. 

izFke iapo”khZ; ;kstuk dk izeq[k y{; d`f”k fodkl djuk 

FkkA 

5. A rolling plan refers to a plan which changes its 

allocations and targets every year. 

vuojr fu;kstu dk lEcU/k ml fu;kstu ls gS ftlesa 

izR;sd o”kZ mlds vkcaVu rFkk y{;ksa esa ifjorZu gksrk gSA 

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. Blue revolution is related to : 

(a) Fish production 

(b) Milk production 

(c) Foodgrain production 

(d) None of the above 

uhyh Økafr lEcfU/kr gS % 

¼v½ eRL; mRiknu ls 

¼c½ nw/k mRiknu ls 

¼l½ [kk|kUu mRiknu ls 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. Underdeveloped economies are also know as : 

(a) Primary sector dominant economies 

(b) Industrial economies 

(c) Advanced economies 

(d) None of the above 
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vYifodflr vFkZO;oLFkkvksa dks dgk tkrk gS % 

¼v½ izkFkfed {ks= vFkZO;oLFkk,¡ 

¼c½ vkS|ksfxd vFkZO;oLFkk,¡ 

¼l½ fodflr vFkZO;oLFkk,¡ 

¼n½ mi;qZDr esa ls dksbZ ugha 

8. Second five year plan model was based on the name of 

which economist ? 

(a) Lewis 

(b) Mahalanobis 

(c) Myrdal 

(d) Domar 

f}rh; iapo”khZ; ;kstuk fdl vFkZ’kkL=h ds fodkl ekWMy ij 

vk/kkfjr Fkh \ 

¼v½ yqbl 

¼c½ egkyuksfcl 

¼l½ feMZy 

¼n½ Mksej 

9. Disguised unemployment generally refers to : 

(a) Agricultural Sector 

(b) Industrial Sector 

(c) Services Sector 

(d) None of these 

izPNUu csjkstxkjh lkekU;r;k lEcfU/kr gS % 

¼v½ d`f”k {ks= ls 
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¼c½ vkS|ksfxd {ks= ls 

¼l½ lsok {ks= ls 

¼n½ buesa ls dksbZ ugha 

10. Panchayati Raj Institutions are intended to strengthen : 

(a) Multilevel planning 

(b) Structural planning 

(c) Functional planning 

(d) Indicative planning 

iapk;rh jkt laLFkk,¡ buesa ls fdls etcwr djus ds fy, 

cukbZ tkrh gSa \ 

¼v½ cgqLrjh; fu;kstu 

¼c½ lajpukRed fu;kstu 

¼l½ dk;kZRed fu;kstu 

¼n½ lkadsfrd fu;kstu 
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